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Mental Alility 1

Group Number : 1

Group Id : 545927711

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit?: No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

Mental Ability 1

Section Id : 545027711
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20

Section Marks:

20



Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 545927853
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 54592714343 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following word CANMNOCT be made by using the letters from the given word?

MODULARITY
Options:

1. % MURAL
2. % AUDIO
2. % TRIAD

4. ¥ TRADE

Question Number : 1 Question Id : 54592714343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR # & & A7 Seg, 150 T =g & STaRT &7 JUANT FoF Tg1 a3 AT THaT7

MODULARITY
Options:

1. * MURAL
2. % AUDIO
2. % TRIAD
4. % TRADE

Question Number : 2 Question Id : 54592714344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the missing term in the following letter series.

K], PO, UT, Z¥, ED, 7
Options:
1. % 1]
2. % HI
2 % [H
4 ¥ ]I

Question Number : 2 Question Id : 54592714344 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
TRAET S1e7 @ | g Ug &1 19 @

EJ], PO, UT, Z¥, ED, 7
Options:



1. % 1]
2 % HI
3. % IH
4. ¥ ]I

Question Number : 3 Question Id : 54592714345 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the missing term in the following letter series.

HOMNHY, ¥KHOHHY, ¥HONY, X0, XHEXHO, »
Options:

1. ® ¥HIHOX

2. % OHEHK

3. % HOXXX

4. ¥ OHHIHK

Question Number : 3 Question Id : 54592714345 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TRRET S1a/ o= | g7 U ®1 ST @

HOFMHE, FHOHHE, ¥HHOEE, XHEEOY, HEEEHC, ©
Options:

1. % HH¥HOX

2. % OHEKK

3% HOHHK

4. % OXXXHX

Question Number : 4 Question Id : 54592714346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cut of the given options, three are simmilar in a certain manner. However, one option is MOT like the other three,
Select the option which is different from the rest.

Options:

1. ¥ Eves

2. % Stornach
2. % Liver

4. % Heart

Question Number : 4 Question Id : 54592714346 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. ad
2 % U7
2% TOEd



4. % A

Question Number : 5 Question Id : 54592714347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cut of the given options, three are simmilar in a certain manner. However, one option is MOT like the other three,
Select the option which is different from the rest.

Options:

1. % Y5
2. ¥ PNL
2% DA
4. % FKHE

Question Number : 5 Question Id : 54592714347 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % ¥W5
z ¥ PINL
2% GDA
4 % KHE

Question Number : 6 Question Id : 54592714348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given options 3 pairs of words are similarly related and one pair is differently related. Find the pair
which is differently related.

Options:

1. * Long : Short
2. % Up: Dowrn
= % Wwhite : Elack
4. % Hot : Hurrad

Question Number : 6 Question Id : 54592714348 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eqnqé?amﬁﬁmﬁfﬁS ATEaT G0 ®0 F GaTiT 5, o UF AST 7 99E O Geiid 21 39 A2 # AT #E Al AT ag o

Options:

1. % Far: #1e
2. % gue AR
3. ® g wmTAT
4 ¥ M An

Question Number : 7 Question Id : 54592714349 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Select the option that is related to the third term on the same basis as the second term is related to the first
term.

JSM  HEL © K0 7

Options:

1. % HMNZ

2. ® LRD

3. % MSE

4. ¥ 104

Question Number : 7 Question I d : 54592714349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I Toiey 1 = e SA1 d 1 g I AR F el 2 e W R UE U e o Hered gl

JGI  HEL @ B 7
Options:

1. % HNZ

2. % LED

2. % MSE

4. ¥ 10a

Question Number : 8 Question Id : 54592714350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first
TermmL

Bull : Cowr » Drake 0 ¥
Options:

1. % Sow

2. ¥ Duck

2. % Dioe

4. % Molly

Question Number : 8 Question Id : 54592714350 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
9 oo T 2 B ST A 1 U & I W | Wl e W gE UE UEe Ue | HellHd gl

q= ; M AT 7
Options:

1. % gHr

2 ¥ g

3. % ghmfr

4. ® oy

Question Number : 9 Question Id : 54592714351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



From the given options find a pair of letters which is analogous to the given pair.

FFA - BHC
Options:

1. % TGV : JGP
2. ® UUHN : PS]
3. % EDC: ORI
4 9 QT : SWM

Question Number : 9 Question Id : 54592714351 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ty Ty et & & arat o U ST Y A e, S AT Y S & Sew 8

FF& - EHC
Options:

1. % TGV : JGP
= % UJHN : P3]
3. % EDC: CRI
4. ¥ QTE - SWVM

Question Number : 10 Question Id : 54592714352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In a certain coding language, if GO = 108 & SHE = 760 then EAIT will be equal to 7

Options:

1.9 3260
2 ® 2B0
3. % 400

4. % 420

Question Number : 10 Question Id : 54592714352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
U i ST AT, i GO = 105 oW SHE = 760 §, 9T BAIT 59 sRma gim?

Options:

1.9 360
=z % ZE0
3. % 400
4. % 420

Question Number : 11 Question Id : 54592714353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Inn a certain code language "TEARS" is written as "23-5-4-21-22" then "SMILE" would be written as:

Options:

1.9 22-16-12-15-8
2 % 19-13-9-12-5
3. % 22-15-11-14-8



4 % 19-12-8-11-%

Question Number : 11 Question Id : 54592714353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U TiT FIE AT A “TEARS" ®1"23-8-4-21-22" o1 A@T 5, T “SMILE" %1 56 U TeiaT <TI0,

Options:

1.9 22-16-12-15-8
2. % 19-13-9-12-5
2. % 22-15-11-14-8
4 % 19-12-8-11-5

Question Number : 12 Question Id : 54592714354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If LCMEHC is the code for CLEMCH then what is the code for PHYSICAL?

Options:

1. % HPSYICLA
2. % HFSYCILA
2. % LACISYHP

4. % HPYSCILA

Question Number : 12 Question Id : 54592714354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I CLENCH #T %1 § LCWEHC 9T PHYSICAL T %1 F47 57

Options:

1. % HFSYICLA
2 ¥ HPSYCILA
2. % LACISYHP
4 % HPYSCILA

Question Number : 13 Question Id : 54592714355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Arnarn, Franoy, Behmar, Xerxes, Sahid and Zenab are sitting in a row. Sahid and Zenab are in the centre.
Aman and Pranoy are at the ends. Rehman is sitting to the left of Aman. Who is to the right of Pronoy 7

Options:

1. % Aman
2. ¥ Herues
3. % Sahid
4 % Zenab

Question Number : 13 Question Id : 54592714355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
SR, WO, TR, i, Ariee o e U uie § 38 8 T ot Sme de § 81 o o i ST 8 w8 TEH e
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Options:



1. % amg
2.V St
= % mEg
4 ® 39z

Question Number : 14 Question Id : 54592714356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In an Exhibition seven cars of different companies - Creta, Amaze, Fiat, Maruti 200, Mercedes, Ealeno and
Figo are standing facing east. Creta is to the right of Figo. Figo is fourth to the right of Fiat. Maruti 800 is
between AmAze and Baleno. Fiat which is third to the left of Amaze, is at one end. Which car is to the right of
Cretay

Options:

1. %® AmAze

2. % Figo
3. % Baleno

4. % Mercedes

Question Number : 14 Question Id : 54592714356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % am

2 &
3. R gt
4 & gHaEH

Question Number : 15 Question Id : 54592714357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& waiting list for admission in a certain college is put up. Three friends Ajoy, Bijoy and Chotu are in that list.
There are severn persons between Ajoy and Bijoy and eight persons between Bijoy and Chotu. If there were
three persons ahead of Chotu and 21 persons behind Ajoy and amongst the three Chotu is first what could be
the minimum number of persons in the waiting list?

Options:

1.9 42

2 % 39

3. % 45

4 % 36

Question Number : 15 Question Id : 54592714357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.9 42



2. % 39
3. % 45
4. % 36

Question Number : 16 Question Id : 54592714358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& series is giverl, with one word missing. Choose the correct alternative from the given ones that will complete
the series.

Doctor, Tornado, Adorable, Blender, ?
Options:

1. * Elemish

= ¥ Derivate

3. * Adopted

4. % Tormment

Question Number : 16 Question Id : 54592714358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Doctor, Tornado, Adorable, Blender, ?
Options:

1. # Blernish

2. ¥ Derivate

2. % adopted

4 % Torment

Question Number : 17 Question Id : 54592714359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the 6th of a month falls on a Friday, 29th of that month will fall on which day of the weelk?

Options:

1. % Sunday

Z % Saturday
3. ® wWednesday
4. % Thursday

Question Number : 17 Question Id : 54592714359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

aafy et T T 6 AT g T R, o1 9 W 9T 29 a1 a3 3 e R g
Options:

1. ¥ A

2 % giEw

3 ® gHEw

4. ® TTEIR



Question Number : 18 Question Id : 54592714360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Read the given statermnent and conclusions carefully and decide which of the conclusions logically follows(s)
frorm the statement.

Staternent.
Those who are educated have an advantage over those who are not.

Conclusions:
[. Education for some creates unequal opportunities for different groups of people.
II. Before the concept of education society had equal opportunities for different groups of people.

Options:

1. % Cnly conclusion 1 follows
2. % Only conclusion 11 follows
2 % Both I and II follow

4. % MNeither I nor I follow

Question Number : 18 Question Id : 54592714360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. drerel TRt 1 SIeoT ®idl g
2. % o Tea 11 SIe ST g
3. % [ &I SF1 SgE FWd 7
4 % FTFI AR IR0 FAT 5

Question Number : 19 Question Id : 54592714361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the question two staterments are givern, followed by two conclusions, [ and I1. You hawve to consider the
staterments to be true ever if it seerms to be at variance from commonly known facts. You have to decide which
of the given conclusions, if any, follows from the given staternents.

Staternent 1 Some mangoes are apples.
Statermernt 2 SOome grapes are mangoss.

Comnclusion [ S0me angoes are grapes.
Conclusion [T All grapes are apples.

Options:

1. % Cnly conclusion 1 follows
2. % Only conclusion 11 follows
2 % Both I and II follow

4 % MNeither I nor I follows



Question Number : 19 Question Id : 54592714361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. el Tmepy 1 SIeeT #eaT &
2 % e fead 11 SIge aT g
3 8 1 eI g1 argE e 8
4 % U] T IR el o

Question Number : 20 Question Id : 54592714362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Complete the following IIuImber series:

15, 20, 18, 23, 21, 26
Options:
1.9 24

2 % 31
2% 28
4 % 33

S ————

Question Number : 20 Question Id : 54592714362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

15, 20, 15, 23, 21, 26, ____
Options:
1.9 24
2. % 321
3% 2B
4 % 33

Merital Ability 2
Group Number : 2
Group Id: 545927712
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0

Group Marks: 20



Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0
Minimum Instruction Time: 0
Mental Alalitye
Section Id : 545927712
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545927854
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54592714363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain manner. Howewer, one option is NOT like the other three,
Select the option which is different from the rest.

Options:

1.9 1000
2. % 100
2% 400
4. % 900

Question Number : 21 Question Id : 54592714363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.9 1000
2. % 100
2% 400
4. % 900

Question Number : 22 Question Id : 54592714364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the wrong number in the given series.

&, 12, 24, 52, 96
Options:
1. ¥ &2



2. % 24
3% 96
4 % 12

Question Number : 22 Question Id : 54592714364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST TTE SR H e AT 1

6, 12, 24, 52, 36

Options:

1. ¥ 52

2. % 24

3% 96

4 % 12

Question Number : 23 Question Id : 54592714365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the rmissing riurmber in the given series.

10,8, 5, 1,7, -10, -17
Options:
1. % %5
2 ¥ -4
2% 4
4 % 5

Question Number : 23 Question Id : 54592714365 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
<1 TS AT H gH G A T

10, 8,5, 1,7, -10, =17

Options:

1. % -5

2. ¥ -9

3% 4

4 % 5

Question Number : 24 Question Id : 54592714366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given options 2 pair of numbers are similarly related and one pair is differently related. Find the pair
which is differently related.

Options:

1. % 5& 41
2. % B7, 32
3. ¥ 37,62



4 % 28, 71

Question Number : 24 Question Id : 54592714366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ﬁgw%?wﬁﬁﬂﬁfﬁz ST HAT & O 8T 8, 3 0o FIET 6T 9E O G189 5] ST AST B AT T AT AAT G T

Options:

1. % B& 41
2. % 57, 32
3. ¥ 27 B3
4 % 258 71

Question Number : 25 Question Id : 54592714367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain manner. Howewer, one option is NOT like the other three.
Select the option which is different from the rest.

Options:
1. % 327
2. % 47
3. ¥ E7
4 % g7

Question Number : 25 Question Id : 54592714367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

mﬂ%ﬁwﬁﬁﬁ A1 Ter TS Foi | T 51 §TATE, U [ded ST o 14 1 a¥g Al 51 39 e &7 == & A7 aehl |
ATETT

Options:
1. % 37
2. % 47
3. ¥ 57
4. % 57

Question Number : 26 Question Id : 54592714368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third munber on the same basis as the second number is related to the
first number.

216 124 2567
Options:

1. % 134

= ¥ 164

2% 144

4 % 154

Question Number : 26 Question Id : 54592714368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

9 Tereped T e B ST o T ST § FH HE H He e § A T e ST g ST § W 5 derad gl
216124 25687

Options:

1. % 134

2 ¥ 164

=% 144

4 % 154

Question Number : 27 Question Id : 54592714369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which two signs should be interchanged to make the below equaticon mathernatically correct?

TZx34+8+4-6=50
Options:

1. % - x

2%y -

3%+ -

4 % - +

Question Number : 27 Question Id : 54592714369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et TaT T ST T O 0 & AR e o oy, e o R @ e S i HT ey

F2w34+BE+4-6=50
Options:

1. % - =

2 ¥y -

W 4 =

4 % - +

Question Number : 28 Question Id : 54592714370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If S#2 = 70, 2#2 = 40, 1#9=100 then find the value of 2#% =7

Options:
1.9 50
2. % 10
2% B0
4 % 70

Question Number : 28 Question Id : 54592714370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

qlE S#2 = 70, 2#2 = 40, 1#9 = 100 I1 2#3 = 7, & Yool 1T @17
Options:

1. ¥ 50



2. % 10
3% B0
4 % 70

Question Number : 29 Question Id : 54592714371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which two nuarmibers should be interchanged to make the below equation mathematically corract?

22+83+-11-2x4=7
Options:

1.9 11,22

2. % 222

3 W 420

4 % 411

Question Number : 29 Question Id : 54592714371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
el Tary T e T I | Gy A o T T S et o T S i T AT 2 R

Z2+33+11-2x4=7
Options:

1.9 11,22

2. % 222

3w 422

4 % 411

Question Number : 30 Question Id : 54592714372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following figure, square represents pilots, triangle represents cyclists, circle represents singers and
rectangle represents Chinese. Which set of letters represents pilots who are cyclists?

! J
" b &
JJ’G '.*H"-.__‘ |
| drwi KB ‘
'x_\\._.E '9_/
D |
Options:
1. % GH
2 % AR
3% AC

4. ® FG



Question Number : 30 Question Id : 54592714372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TgieET gt H, avf UTame! @i gaidT &, T 0 ATEehet et &1 GandT &, oI Tt @l gandT & S ST eiHT @ ganidT gl
STy T W AT HT WA | T ST 5 AT AIE Thed AT 57

-~ T J
r T 4.1
| +- Hu_\-..h.
. P [ A ’.' B\ 1
x\\._.E S/
D
Options:
1. % GH
2. % AR
3% AT
4. % FG

Question Number : 31 Question Id : 54592714373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following Venn diagrams best represents the relationship between elephants, deer and
Carnivoresy

Options:

3.%:5

4%&\AC\

Question Number : 31 Question Id : 54592714373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Torg & 19 |7 o SR g, Teeont o gt & st o Helel @ Herd SfaT gaidr 27

Options:



C U0

424\\_,,-&)&,,-”

Question Number : 32 Question Id : 54592714374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

L and M start cycling from the same point. L cycles 23 lan North, then then turns to her right and cycles 2 km.
Ir1 the meanwhile M cycles 7 ko East, then turns South and cycles 10 ki, then turns right and cvcles 4 ki
where is L now with respect to the position of M7

Options:

1. ¥ 33 km North
2. % 33 km South
2. % 16 km MNorth
4 % 16 km South

Question Number : 32 Question Id : 54592714374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Laﬁfmrmn‘ga Telg & ATEohel SR & ®ed 81 L 23 kan Io€ § ATEiohel el 5, T a10 212 &I g2d1 7 8% 3 kan @ iee
M 7 km ﬁﬂmﬁmm%ﬁﬁﬁmzﬁraﬁrw%aﬁmmﬂmﬁmm%ﬁwmwgaﬁ4
km%r@ﬁmaﬁrm'r%L Mfﬁﬁﬁ'ﬁmﬁwﬁmﬁm@

Options:
1.9 33k 3¢

= ® 33 o A
2 % 16 km 39T
4 ® 18 kmn &

Question Number : 33 Question Id : 54592714375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

An engineer is surveying a land. He is facing the south-east direction. He turns 180 degree in the clockwise
direction, then 90 degree in the anticlockwise direction and then turns 90 degrees to his left. Which direction is
he facing now?

Options:
1. % South-West



2. % South-East
3. % INorth- East
4 % North-west

Question Number : 33 Question Id : 54592714375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

o B T2 e T8 T Hci 07 ¢ 757 3] ST He giam— ujﬁ:&rrﬁ% ag ST @ fram | 180 T2, v ammad fear § 90 2
A T A8 A 90 12T g2 a7 81 9 4E ofe e feam H 87

Options:

1. % Figor-apEm
2 ¥ gigur-eF
3 % gw-md

4. ¥ FaT -ukEm

Question Number : 34 Question Id : 54592714376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Out of the four options three are similar in a certain way and one is different. Find the option which is
different.

Options:

=T
<=
Do @

1. #®
o® Y
® &

o % AQOo
@ a0
VvV

2 Py 3 Yo
= L)
2 O®

D ,

L% LA

Question Number : 34 Question Id : 54592714376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
= et # & &9 Uw T T § 0 § W U ST 51 JF T Swey

Options:



TRV
® &
ACD

3

Question Number : 35 Question Id : 54592714377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Select the immage that is related to the third image on the same basis as the second image is related to the first
irmAge.

2 ::@:L




Question Number : 35 Question Id : 54592714377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I el BT = e S A T I W A el § e e e B ug sl s o gerid gl
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Options:

>N\

3 v

4

4 %

Question Number : 36 Question Id : 54592714378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The two figures given in the question are similar in a certain way. Only one figure from the options is similar to
the two figures given in the question in the same way. Find that figure.

OAOA
mE|w O

Options:



™

oS
1. ¢ '

P <

0 @
2 ®

o @

B M
3

@ O
4 % (]

Question Number : 36 Question Id : 54592714378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Hﬂﬁ%ﬂﬁﬂ?ﬁ%mwﬁ%mﬁwﬁ Terepent © & hae U STgid, I9r avg d WG o & M I Tidat oF g6 81 39
TS T AT

OAOA
mE|w O

Options:

@ O
U%_

1.9

g
I

<
)

=30
B
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Question Number : 37 Question Id : 54592714379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If a cube is painted yellow on three adjacent sides and red on the other three sides and cut into 64 srmaller

cubes, then how many such smaller cubes will have one side red and one side yellow and no paint on any
other sides?

Options:
1. % 16
2. %9
3% 8
4.9 12

Question Number : 37 Question Id : 54592714379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Il U O F1 1 ST G155 &1 Ul T F T A7 & 3 30 19 90 @1 07 F 37 39 64 F1¢ o § F2 RarAmar g, ar i
ToFa= ¢ B9 H UF a9 AT o U a9 Uier &I ot of e aEs o #1E de agf gim?

Options:
1. % 16
2. % 9
3% 3
4 ¥ 12

Question Number : 38 Question Id : 54592714380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following answer figures completes the pattern shown in the question figure?

Options:

L]

1.%:5



4 &

Question Number : 38 Question Id : 54592714380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR § & B A 30 g, W A # gy my fee @i gy wedt g

Options:

4

Question Number : 39 Question Id : 54592714381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

A piece of paper is folded and puniched as shown below in the question figures. From the given answer
figures, indicate how it will appear when opened.

Options:

1. %
&b
’%Dﬂ

T R
i)
&z
quo
4

Question Number : 39 Question Id : 54592714381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
%awﬁ“ﬂé;ﬁnﬁﬁmqmﬁma@a@aﬁﬁmaﬂﬁ@amﬂq% I TE O AR |, TiT o T 56 gl I W ag

Options:




j\_.-' 1_.;:
A
b ﬂ[}nc
o R
9]
A
A
O ol
3 ®
i)
S
DQDD
4

Question Number : 40 Question Id : 54592714382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Farts given in which option can be joined to create the pattern given in the question figure?

Options:
e R
L] LI

1.9
it - | E
J [ | | [ ]

o ®

] []
BN [ | | | @
3 % B




Question Number : 40 Question Id : 54592714382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e MTpTe H T T U 1 a0 @ & e e A1 " 5

|

Options:
[ ] 1] | [ ]
. \j [ ] LLL]
1. ¢
] | | 11 E
] ] ] (1] []
o %
| - []
HE S l |
3 ®
[ ] : ’:
| uE |
4 ®
Gereral Avwarenessl
Group Number : 3
Group Id: 545027713
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awarenessl



Section Id : 545927713

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545927855
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54592714383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Eolkali is a famous dance form associated with ______
Options:

1. ¥ Meghalaya

Z ¥ Lakshadweep

3. % Tripura

4. % Manipur

Question Number : 41 Question Id : 54592714383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
BIFEAT ______ o ST UF Hiehg 700 2l
Options:

1. % fewg
2. o myE
z % T

4 % gt

Question Number : 42 Question Id : 54592714384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Mirguri Lavani 15 usually 111 rature.

Options:
1. # historical

2. % social
2. ¥ philosophical
4. % gensual

Question Number : 42 Question Id : 54592714384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ATl ATaviT AR T uE e o H

Options:



1. % UidgTae
2. ¥ gt
= o it

4. ® wHgw

Question Number : 43 Question Id : 54592714385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Charminar is situated on the eastern banks of the Fiver with the Malkla Masjid.

Options:
1. % Musi

2. % Krishna
3. % Tapti
4 % Mahanadi

Question Number : 43 Question Id : 54592714385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TTCHITE HgT Hieag o oy __ & & Ot 9 o e B

Options:

1. gt
= % oy
3 ® gt
4. % mETEt

Question Number : 44 Question Id : 54592714386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich among the following is also knowr as yellow festival?

Options:

1. # Losar

2. % Porgal

3. ¥ Basant Panchari
4. % Maha Shivratri

Question Number : 44 Question Id : 54592714386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ety & & e fie oigw & =0 & ot Ste7 =7 87

Options:

1. % F@ew

2 % gime

3. ¥ T vt
4. % mEt T

Question Number : 45 Question Id : 54592714387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



It was only in 2001 that finance minister Yashwant Sinha changed the practice and the budget began to be
introduced at

Options:

1. % 9am
Z ¥ 11am
3. % dpm
4. % B pm

Question Number : 45 Question Id : 54592714387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2001 # 31 26 At T9ET [9egT o 56 0 1 a2 (o T @

Options:

1. % g aig
2 ¥ 11 qdig
SR B Wi g o
4 ® B T

Thar TeRT ST Fm

Question Number : 46 Question Id : 54592714388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The rminirmum support price for paddy isRs _____ per quintal for 2019-20 crop seasorn.

Options:

1. ¥ 1835
Z ® 1825
3. ¥ 1815
4. % 1845

Question Number : 46 Question Id : 54592714388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2019-20 % HEd HIad & 6 e F7 ~J0ay aue—a 07 _____ T Wi Tohea gl

Options:

1. % 1835
2 % 1825
2. ¥ 1815
4 % 1845

Question Number : 47 Question Id : 54592714389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The first bank in India was the

Options:

1. % General Bank of India
2. % Bank of Bormbay

3. % State Bank of India

4. % Central Bank of India



Question Number : 47 Question Id : 54592714389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IRF HugeT e ______ m

Options:

1. ¥ Fe o ATw gizar

2 % dw o 916

3 ® URd I S dF

4 % Hoe ofw ofTE 2z

Question Number : 48 Question Id : 54592714390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wwhich law states that the rates of diffusion of gases are inversely proportional to the square roots of their
densities under similar conditions of temperature and pressure?

Options:

1. % Graham's Law
= % Kepler's Law
3. % Charles's Law

4. % Boyles's Law

Question Number : 48 Question Id : 54592714390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
?ﬁ%ﬁmw%%ﬂﬁ%wﬁawﬁmﬁwﬁﬁﬁ%mmmﬁr%w&%ﬁm

Options:

1. & qEA &
o, % e o A
3 % e @ e
4. % Frae @ A

Question Number : 49 Question Id : 54592714391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which type of ore is Zinc?

Options:

1. % Cxide

2 ¥ Sulphide

3. % Carbonate Ores
4. % Halide Cres

Question Number : 49 Question Id : 54592714391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T 1o T T ST 57
Options:

1. #® ATFaES
2 ¥ TrpTEe



3. ® AT SEEE
4, ¥ giieiE srwew

Question Number : 50 Question Id : 54592714392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Capra aegagrus hircus is the scientific name of

Options:
1.9 goat

2. % donkey
3. % dog

4. % oo

Question Number : 50 Question Id : 54592714392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

I T Teered ______ T AT T 3l
Options:

1.« gail

2. %o

3. % gl
4. ® M

Question Number : 51 Question Id : 54592714393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The part of the flower which receives pollen grains during pollination is ______.
Options:

1. % Stigma

2. % Leaf

3. ¥ Stomata

4. % Chlorophyll

Question Number : 51 Question Id : 54592714393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Hcl T af AT AT ORIT0T & SR T 0 6T W @i T e, 95 ______ 2l
Options:

1. feam

2 ® T

z. ®

4 % FARMEA

Question Number : 52 Question Id : 54592714394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The part of the plant that yvields saffron spice is the

Options:
1.9 stigma



2. % park
= #® stemn
4 ® geaqd

Question Number : 52 Question Id : 54592714394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T a7 TR ST S W AT, Y B
Options:

1. fezmr

o % g

3 % g

4 % F=

Question Number : 53 Question Id : 54592714395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
MEW stands for
Options:

1. % Municipal Solid Waste Management

2. % Management for Sanitation and Waste Municipality
Z. % Municipal and Sanitation of Waste Management

4. % Municipal 50lid Waste Manage

Question Number : 53 Question Id : 54592714395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

IS A T ST ______ H

Options:

1. ¢ it diiee deT Aee

2 % e i @i U2 dee Ry
2. ® wgiataus U @y e dee i
4 % THTUA |i6s dee f0

Question Number : 54 Question Id : 54592714396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What 15 the standard pulse rate?

Options:

1. ¥ 70 pulses/min
2. % £9 pulses/min
= ¥ 72 pulses|min
4. % 75 pulses/min

Question Number : 54 Question Id : 54592714396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT e 2% FAT 27
Options:



1. % 70 ) T2
2 % g9 urd| AT
3. ¥ 72 Ued| T
4. % 75 ueq| Hee

Question Number : 55 Question Id : 54592714397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Perich MNational Parl: is situated in ______.
Options:

1. # Tarrnl Madu

2. % Uttar Pradesh

3. # Assam

4. % Madhva Pradesh

Question Number : 55 Question Id : 54592714397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T TP IR H o

Options:

1. % gie g
2 % FEvudar
3. % ey

4 & e uET

Question Number : 56 Question Id : 54592714398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The river Ganga is formed by the confluence of two rivers and Alaknanda at Devprayag.

Options:

1. % Brahrmaputra
2. * Indus

3. ¥ Ehagirathi

4 % Mahanadi

Question Number : 56 Question Id : 54592714398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T H T ST 2 et 3T AT oF T7H 9 I T 8l

Options:

1. % #gga

2 % Ty

3. ¥ it
4. % mETEt

Question Number : 57 Question Id : 54592714399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Mount Elbert is the highest point of the



Options:

1. % Atlas

Z ¥ Rockies

3. #® Eastern Ghats
4. % Elbruz

Question Number : 57 Question Id : 54592714399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT Owele ______ T I TEg B
Options:

1. % gaag

2 TEE

z % mEiaw

4. ® Uega

Question Number : 58 Question Id : 54592714400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ 15 also known as ‘riverine soil” a5 it is found mainly in river basins.

Options:

1. ® Red soil

= % Elack soil
3. ¥ Alluvial soil

4. % Laterite s0il

Question Number : 58 Question Id : 54592714400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

______ &1 TeafeT g & T & T =7 A1 § F i 9 ge w0 F Fa et o] 01 SAa 1 g
Options:

1. % Fme st

2 % Al T

3. ¥ T S HET

4 % e fasr

Question Number : 59 Question Id : 54592714401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The Berrmuda Triangle 1s located in the DCEArn.

Options:
1.9 Atlantic
= % Pacific
3. % Arctic

4. % Indian

Question Number : 59 Question Id : 54592714401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Options:

1. aEdie®
2. % g

3 % ganEE
4 ® g

Question Number : 60 Question Id : 54592714402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

IMNepal shares its border with five Indian states - Sikldm, West Eengal, Eihar, Uttar Pradesh and

Options:

1. % Madhva Fradesh
2. % Cdisha

3. % Assam

4 % Uttarakhand

Question Number : 60 Question Id : 54592714402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % meguda
2. % afifEam

3. % amm

4. V' FEE
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Revisit allowed for view? :
Revisit allowed for edit? :
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Group Marks:
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Minimum Instruction Time:
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Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545927856
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54592714403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The largest producer of cotton in India is ______.
Options:

1. % Gujarat

Z % Kerala

3. % Assam

4. % West Bengal

Question Number : 61 Question Id : 54592714403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT H T 1 Gad =57 Je0=d ______ 2l

Options:

1. & T

2 ® I

3. % aH

4 % i S

Question Number : 62 Question Id : 54592714404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
who founded the All India Trade Union Congress?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1. MM, Joshi with MM Joshi

2. Lala Lajpat Ray & Ray Chaudhary

3. Motilal Nehru & Ray Chaudhary

4. Bhagat Singh & Ray Chaudhary

Question Number : 62 Question Id : 54592714404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR T 12T T Sl R0 o T et e

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:

1. U9, W, AT & 0 T ¥ e

= FTAT W0 T A1 ¢ e



3. AT g 3 ¢ 2T
4. AT g o T

Question Number : 63 Question Id : 54592714405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who was the finance consultant at Albar's court?

Options:

1. % Todar Mal
2. % Abul Faizi
3. % Birbal

4. % Mivan Tansen

Question Number : 63 Question Id : 54592714405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
3T o AT | T HATGHI &1 417

Options:

1. TEv A
2 % o Ot
3. ® dNae

4. % T aTAeq

Question Number : 64 Question Id : 54592714406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When was the Hindu Widow Remarriage Act passed?

Options:

1. % 1839
Z ® 1852
3. ¥ 1858

4. % 1862

Question Number : 64 Question Id : 54592714406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tog, oo gatelay arferf-rem @ i femam ma ar

Options:

1. % 1829
2 % 1852
3. ¥ 13856
4 % 1862

Question Number : 65 Question Id : 54592714407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wwho was the leader of the Great Revolt of 1857 in Barrackpore?
Options:

1. ¥ Rani Laxmibai



2. ¥ Mangal Pandey
3. % Abdul Ali Khan
4. % Amar Singh

Question Number : 65 Question Id : 54592714407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A H 1857 &F UgH g ig & a1 & 47

Options:

1. % 7T AgHETE
2 ¥ AE T

3. % alegd Al g
4, % g

Question Number : 66 Question Id : 54592714408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who was the successor of Chandragupta [7

Options:

1. % Ashoka

2. * Ballala Sena

3. % Vikramaditya
4. % Sarmudragupta

Question Number : 66 Question Id : 54592714408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TGIIA | T T i 472

Options:

1. #® ayare

2. ® TeaTd o
3. % e
4. WA

Question Number : 67 Question Id : 54592714409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Futuhat-e-firozshahi is the autobiography of ______.
Options:

1. % Firoz Shah Tuglag

2. % Muharmmad Tughlag

3. % Ghivasuddin Tughlag

4 % Moharmmad Khan

Question Number : 67 Question Id : 54592714409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
G- - Tohereamgt T TCTERT B

Options:



1. & TR 9T el
2. % HgAS QA
3 % RS Tew
4. % Oz Eq

Question Number : 68 Question Id : 54592714410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who is also known as MNarendra?

Options:

1. % Swarm Vivekananda

2. ® Mahatrma Gandhi

2. % Subhash Chandra Bose

4 % Jawmharlal Nehru

Question Number : 68 Question Id : 54592714410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T g & AT o AT AT 27

Options:

1. & Tt e
2. % mEre et
3 % gumdg ae
4, ¥ FAAATA "E5E

Question Number : 69 Question Id : 54592714411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A& Paramyir Chakra winner or his kin gets a monthly compensation of

Options:

1. % Rs 25,000
2. % Rs 20,000
3. % Rs 680,000

4. % Rs 20,000

a mornth.

Question Number : 69 Question Id : 54592714411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TRHE Y 23 ToidT =0T 36 Ui @l mg e o
Options:

1. % 25,000 #q7

= % 20,000 707

3. % 60,000 FO7

4. % 20,000 &7

Question Number : 70 Question Id : 54592714412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The 'Accidental Frirme Minister' is written by



Options:

1. % Sarnjaya Baru

= % Udaya Tara Nayar
3. % Anjali Joseph

4. % Cyrus Mistry

Question Number : 70 Question Id : 54592714412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

______ TR T T e e ey o mar
Options:

1. v g A

2. % JEATTNT AR

Z ® aFAler AEH

4 % grged ol

Question Number : 71 Question Id : 54592714413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The League of Nations was founded in ______ t0 keep the peace after World War I

Options:
1. ® 1902

2. ¥ 1919
3. % 1921
4. % 18905

Question Number : 71 Question Id : 54592714413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tora gg | o AT, AT ST T o Tt 8 69 &1 ST

Options:
1. % 1902

2. ¥ 1919
3. % 1921
4. % 1905

Question Number : 72 Question Id : 54592714414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Three Musketeers' 1s written by ______.
Options:

1. # Jules Verne

2. % Charles Dickens

3. ¥ Alexander Dumas

4. % Daniel Defos

Question Number : 72 Question Id : 54592714414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Options:

1. % egad

o R e S

3. ¥ aTAeT S
4, % 2 2T

Question Number : 73 Question Id : 54592714415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

_____________ 15 the largest domestic corumunication systernl in the Asia-Pacific region.
Options:

1. ¥ INSAT

2 % ISRO

3. ® IGMNOU

4 % [PDC

Question Number : 73 Question Id : 54592714415 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TTERT-FanT &7 § Tad T2l T, S WoeT ______ E

Options:

1. ¢ zqa7

2 ® gEEr

3 %=y

4 % rzutErEmn

Question Number : 74 Question Id : 54592714416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

According to Article 170, the number of seats in the Legislative Assembly of each state to consist of not more
tharn

Options:

1. % 450
2 ¥ 500
3. % 525
4 % B00

Question Number : 74 Question Id : 54592714416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Bt 170 W aRJAR, o U= i Teref= T | Siet & | ______ o fE R g1 S

Options:

1. % 450
=z ¥ 500
3. % 525
4. % B00




Question Number : 75 Question Id : 54592714417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat is the minirmum age limit for employment in a factory?

Options:

1. % 16 vears
2. % 10 vears
3. ¥ 14 vears
4. % 18 vears

Question Number : 75 Question Id : 54592714417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt AT H TR o T wIAd A ST | #m 57

Options:

1. % 16 af
2 % 109
3 ¥ 1499
4 % 15

Question Number : 76 Question Id : 54592714418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eonlkani, Manipuari and MNepali have been added a5 larguages in the

Options:
1. % gth

2. % gth
2% 10th
4 % 7th

schedule of the 71st amendment.

Question Number : 76 Question Id : 54592714418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T, WU 31T AU @1 71 o Haes & _______ ST H ATt @ w0 o ST T

Options:

1. v 54
2 % od
3 %104
4 ® 74

Question Number : 77 Question Id : 54592714419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

According to Article 171, the total nurmber of members in the Legislative Council of a State shall in ro case be
less than

Options:
1. % 35
2. ¥ 40

2% B0



4. % 70

Question Number : 77 Question Id : 54592714419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e 171 % SIgdr, Tt T 7 TerermT uivws o el S fopat o e o ______ GETEHE
Options:
1. ¥ 35

2. ¥ 40
3. % B0
4 % 70

Question Number : 78 Question Id : 54592714420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who won [ndonesia Open BWF Tour Super 1000 tournarment?

Options:

1. # PV Sindhu

2. ¥ Alane Yamaguchi
2. % Shane Lowry

4. % Sgina Nehwal

Question Number : 78 Question Id : 54592714420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
EEHTIRIT 3o BWF $% go 1000 gAiHe fare Siar?
Options:

1% i Ry

2. ¥ ST AT
3. ® g En

4, % FEAT T5aTe

Question Number : 79 Question Id : 54592714421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

International Criclet Council has suspended
its running of the sport.

for failing to ensure there is no government interference in

Options:

1. # Afshanistan
= % England

2. ¥ Zimbakwe
4. % IMetherlands

Question Number : 79 Question Id : 54592714421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

SATIE foehe O = ______ T Ig G o o Twe Tge o Ty Fwiler @ T for e o e | e @) gea gy 7 gl
|

Options:



1. % arpmiaear
2 ® ez

= o Farared
4. ® Jedz

Question Number : 80 Question Id : 54592714422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The 21st Cormrnonwealth Table Tennis Charmpicnship tools place in

Options:
1. # Mumbai

2. % New Delhi
3. % Odisha
4. ® Gujarat

Question Number : 80 Question Id : 54592714422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2 15 TIEHEH daal & (= SR
Options:

1. % gag

2. % 9 Tmt

3. v afifEem

4. ® TEEIT

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Revisit allowed for view? :
Revisit allowed for edit? :
Break time:

Group Marks:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
Mandatory or Optional:
Number of Questions:

Number of Questionsto be attempted:

Section Marks:
Display Number Pane:

Arithrmetic Ability1

5
545927715
0

0
No
No
0
20
Yes
0

0

Arithmetic Abilityl

545927715
1

Online
Mandatory
20

20

20

Yes



Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 545927857
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54592714423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Simplify: (3.5 x 4.25) + (275 x3.375) =7

Options:

1. % 238/145
2 % 136)235
3. % 140337

4. ¥ 476|297

Question Number : 81 Question Id : 54592714423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT (25 w425 = (275 x 3375 = 7

Options:

1. % 2381145
Z % 136]23%
3. % 140(337
4. ¥ 4T7E 297

Question Number : 82 Question Id : 54592714424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat is the greatest number that can divide 79, 96, and 65 leaving remainders of 4, & and & respectively ?

Options:
1.9 15
2 % 17
3% 139
4 % 13

Question Number : 82 Question Id : 54592714424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e a5 HEAT 74T o, AT ®H: 79, 96 W 65 & TITr=g @ty 99 4, § 3T 5 Fig god 1 57

Options:
1.9 15
Z %17
3 % 19
4 % 13

Question Number : 83 Question Id : 54592714425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Find the LCM of 4/3, 5/Z and 6/13 7

Options:
1. % 78
2 ¥ B0
3. % 1|78
4 % 1160

Question Number : 83 Question Id : 54592714425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
413, 5)2, 3 613 o wTefcH SHIT=d & AT He7

Options:
1. % 78
= ¥ B0
3. % 1/78
4 % 1/80

Question Number : 84 Question Id : 54592714426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Simplify: /121 + (110 + /36 + +/25) = 7

Options:
1.9 22
2 % 21
3. % 20
4 % 19

Question Number : 84 Question Id : 54592714426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
WA T 121 + (1104++/36++/25) = 7

Options:
1.9 22
z % 21
3. % 20
4 % 139

Question Number : 85 Question Id : 54592714427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the HCF of 40/1Z2, 26/20and 32/18.

Options:
1. % 1|72
2 % 45
3. ¥ 145
4 % 72



Question Number : 85 Question Id : 54592714427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
4012, 36/20 3T 32/ 18 7 AgaA GATad & AT F4

Options:
1. % 172
2. % 45
3. ¥ 145
4 % 72

Question Number : 86 Question Id : 54592714428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
¥ and Y are 2 numbers such that their ratio is 2:3, i5 2 ; 2 and their HCF is 10, Find the LCM of the numbers?

Options:
1. % 50
= ¥ B0
2% 40
4 % 70

Question Number : 86 Question Id : 54592714428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

¥ AR Y 2 g U o g, T argua 2:3 & &l 3@ fgay auvades 10 31 SEmel! &7 dgcd SH0e & J1d 7
Options:

1. % 50

2 ¥ B0

2% 40

4 % 70

Question Number : 87 Question Id : 54592714429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Findvalueof xif. 7 + x4+ (32 x31-5=5

Options:
1.¥7
2. % 72
3% 73
4 % 74

Question Number : 87 Question Id : 54592714429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

KT FaAd e aig 7+ x + (3 x3)-5=5
Options:

1.9 7

2. w72

3% 73

4 % 74



Question Number : 88 Question Id : 54592714430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Simplify: 1 {1 x1+2x2+3xd+4x4 =7

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1.112

2. 96

3. 54

4. 108

Question Number : 88 Question Id : 54592714430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT 1l x 1 +2 X2+ x4 +4 x4 =7

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:

1112

Z, 98
3 54
4. 108

Question Number : 89 Question Id : 54592714431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following three nurnbers have LCM 144 and HCF 127

Options:

1. % (24,320,36)
2. ¥ (24 48 36)
3. % [18,30,36)
4 % (24 30,42)

Question Number : 89 Question Id : 54592714431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TafeaT 9 a8 9 Tore 97 aiged SAmad & 144 3 Agad aaad & 12 27
Options:

1. % (24 30,36)
2. ¥ (24,48, 36)
3. ¥ (18,30,36)
4. % (24,30, 42)

Question Number : 90 Question Id : 54592714432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the HCF of 40, 55, 60, 42

Options:



1.% 4
2. ¥ 1
3. %2
4 ® 3

Question Number : 90 Question Id : 54592714432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

40, 55, 60, 42 FT HEaH GAIIIE & A1d F
Options:

1. % 4

2. ¥ 1

I %2

4 % 3

Question Number : 91 Question Id : 54592714433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the average of the first four triple digit prime numbers.

Options:

1. % 100
= ¥ 105
2 % 110
4 % 120

Question Number : 91 Question Id : 54592714433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Options:

1. % 100

2 ¥ 105

3 % 110

4 % 120

Question Number : 92 Question Id : 54592714434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Three circles hawe an area of 4m, 9mand 25w 5q Crimn respectively. Find the average of their radius?

Options:

1. ¥ 233cm
2. % 4E6cm
2. % Lom

4 % L Ed4cm

Question Number : 92 Question Id : 54592714434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T BT STEA FHS 4, 91 AR 251 5q om FE I e AT J wee



Options:

1. ¥ 333cm
Z % 4 EEcm
2. % Scom

4 % S E4cm

Question Number : 93 Question Id : 54592714435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Famsold 10 pens for Bs. 1 each. At end of day, he sold 2 pens at Bs. 10 and gave 4 pens for free. Find his
average selling price.

Options:

1. % Es. 082
2 ¥ Rs 091
. % Rs 088
4 % Rs.0.94

Question Number : 93 Question Id : 54592714435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T = 0ia O O 70 3 e & 10 U9 okeh fe o oig 39+ 10 #ur 8 o o fo, Sarter 4 U goa | T I sftea ferk
Tl ST 7

Options:

1. % 03230

= 9 091 Uy

3. % 038850

4. % (094 w0

Question Number : 94 Question Id : 54592714436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Rohit scored 96 runs in 80 balls. If 24 runs were scored in 4 balls, what percent runs out of total runs were
scored in the remaining balls?

Options:

1. % 70 percent

= % 7250 percent
3. ¥ 75 percent

4. ® 7750 percent

Question Number : 94 Question Id : 54592714436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tigd = 80 gl # 96 W a=m Aig 4 gl # 24 W a=m Ty, 91 99 7gi # Fet t1 # & g widaa o a7

Options:

1. % 7oufdeaT

2 % 7250 nidaT
3. ¥ 7S URaT

4, % 7750 0T



Question Number : 95 Question Id : 54592714437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the side of a square is doubled, percentage increase in area = 7

Options:

1. % 200 percerit
2. % 200 percent
3. % 400 percent

4. # 200 percent

Question Number : 95 Question Id : 54592714437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT TeRredl =TT o 17T AT o TS AT 8, °7 Shed # Wicad Jhg = 7
Options:

1. % 200 uidem

2. ¥ 300 oidaT

3. % 400 oidaT

4 ® go0 Ui

Question Number : 96 Question Id : 54592714438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A custorner buys petrol at s, 70 per litre. He gets a 10 percent discount on his credit card and 2 percent
revrard. What percent petrol does he pay for?

Options:

1. % 6250 percent
2. ® 75 percent

2. ¥ 3B percent

4. % 90 percent

Question Number : 96 Question Id : 54592714438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e UTgeh 70 T Hid Fiet Ugiel @iigaT g1 39 - Hise ®1e 0 10 Widerd & ge ol 2 Hided &1 24 Wedr 21 ag e nidaa
UZ T T I FaT 57

Options:

1. % g2 50T

2. % 7o uidea

3. ¥ 58 UidaT

4 # g0 uldag

Question Number : 97 Question Id : 54592714439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A car was purchased for Rs. 1,000,000 and Rs. 10,000 was spent on repairs. The car was then sold at Rs.
1,32,000. Find the net profit percent?

Options:
1. ® 32 percent

2. % 25 percent



3. ¥ 20 percent
4 % 16 percent

Question Number : 97 Question Id : 54592714439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
%ﬂﬂ? 1,0%5100 wo o @l 118 ot $ 10,000 T AXHT U G (9T 19T oM FR a9 1,532,000 Ty H &t g o gy A
AT T T

Options:

1. % 32 ufdem
2. % 25 uide
3. ¥ 20 nideT

4 ® 16 gidad

Question Number : 98 Question Id : 54592714440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A shoplkeeper buys peanuts at Rs. 450 per kg, and sells it in packets of 50 g. Each packet costs a additional
Es. 0.5, At what price should he sell each packet of peanuts to make 10 percent profit?

Options:

1. % Rs22
2 ¥ Rs 253
2. % Rs2l
4 % Rs 275

Question Number : 98 Question Id : 54592714440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T GG 450 Hid kg #00 HIthe ! Wied] g X 56 50 g o Tde H €aT g1 Fode® Gee 08 S7d 66 /g 0.5 6 #ar gl 10
i FT FHT o TR 38 Ot 3 Weder U 1 TR Irdl OF s TR

Options:

1. % 238007
= ¥ 25 3%y
3% 2leEm
4 % 275wy

Question Number : 99 Question Id : 54592714441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& food shop sells burgers at Bs. 50 and cold drinks at Rs. 40, If he sells both in a comboe at Bs. 80, then what
15 his 1oss percent in selling the cormbo?

Options:

1. # 10 percent

2 ¥ 11.11 percent
2. % 12.50 percent
4 % 15 percent

Question Number : 99 Question Id : 54592714441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 10 ufdem

2. ¥ 11.11 nideT
3 % 1250 nideT
4. % 15 uida

Question Number : 100 Question Id : 54592714442 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ifa, b, c, darein proportion, and @ +b):a:: @ +c): d, find d?

Options:
1.*d=0b

2 % d=a+b
2% d=a-b
4 ¥ d=a

Question Number : 100 Question Id : 54592714442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Afga, b, o, d smquiaw s, S @+ by a:: @ +c):d, d T HEe?

Options:
1.%d="0b
2 % d=a+hb
T % d=a-b
4 ¥ d=a
Arithmetic Abilityz
Group Number : 6
Group Id: 545027716
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithrmetic Ability2
Section Id : 545927716
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory

Number of Questions: 20



Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545027858
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 54592714443 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the ratio between the sum and product of the first two double digit prime numbers.

Options:

1.% 1112
2. ¥ 24143
2% 12143
4 % 2113

Question Number : 101 Question Id : 54592714443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TRel 5 ST ST STl SEaTall & AT 3 JouTg & siel &1 SuTd =0T ®e)
Options:

1.% 11:13

= ¥ 24143

3% 12143

4 % 2113

Question Number : 102 Question Id : 54592714444 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If a square and circle have the same measure of side and radius, calculate the ratio of their areas?

Options:

1.9 1:314
2. % 3214:1
2% 4449
4. % 49 44

Question Number : 102 Question Id : 54592714444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT e T ST o 1 ek 51 A5 1 T3 2, 1 3k &1 & SIUTd @1 10T 7

Options:

1.¥1:314
2. % 3214:1
2% 44 49
4 % 49 44



Question Number : 103 Question 1d : 54592714445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Rekha invested Rs. 1000 at beginning of each year for 2 years. She received Rs. 2600 after 3 years, what is
the rate of simple interest per year?

Options:

1. % B percent
2. % B percent
3. ¥ 10 percent

4. % 12 percent

Question Number : 103 Question Id : 54592714445 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TG R W 3 W T Hedw o 1000 307 e B 3 |16 & &g 99 3600 T WH g, Wi o4 T sor H1 9 74T 57

Options:

1. % ¢ uidae
2 % g
3. ¥ 10 TdeaT
4. % 12 uidem

Question Number : 104 Question Id : 54592714446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& loan of Rs. 4000 was partly lent at S percent and partly at & percent simple interest for 2 years. If interest
earned is Bs. 420, find the amount lent at & percent?

Options:

1. % Rs 1500
2. % Rs. 2000
2. % Rs 2500

4. ® Hs 30000

Question Number : 104 Question Id : 54592714446 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

4000 T T F0T AT 7 & S 0idad & Aiw & § € Widad 9T == U 2 97 o Tord FUT T T om wte sra
T 430 T & 97 6 Wdad U7 T o TS 21187 19 7

Options:

1. % 1500 z07
2. % 2000 7
2% 2500 T

4. % 30000 FTOT

Question Number : 105 Question Id : 54592714447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

& loan for Rs. 60,000 was paid after 1.5 years on a loan of Rs. 50,000, Find the rate of simple interest?
Options:

1. % 11.11 percent



2. % 12,22 percent
3. ¥ 13 323 percent
4. % 14 44 percent

Question Number : 105 Question Id : 54592714447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
50,000 T FTF= 1.5 a4 # 60,000 1 I 12N TR w29 #1371 BL7

Options:

1. % 11.11 nideT
2 % 1222 nidea
3. ¥ 1333 UideT
4. % 14 44 nfdem

Question Number : 106 Question Id : 54592714448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& passenger train and an express train depart from their stations located 250 km apart towards each other.
wher they rmeet in betweer, the express train has covered a distance of 200 k. What is the ration of their
speeds?

Options:
1.%1:2
2. % 2:3
3.9 3:4
4 % 15:4

Question Number : 106 Question Id : 54592714448 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T ATAT TS T 31 T Qeraie] Tie ! 350 kvl i g6 0T WU S+ €eamT 9 U a7 3710 HET @d | g ofel of o= H THere
%, O TFHUE &1 200 kary 1 G T4 @dl g1 IRl Tid &7 T 41 57

Options:
1.% 1:2
2. % 2.3
¥ 324
4 % 154

Question Number : 107 Question Id : 54592714449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Howr much distance can a cheetah cover in 1 minute if it runs at an awverage specd of 50 km/h?

Options:

1. % 800m

Z % B33 33m
2% BEEEEmM
4. % 900 m

Question Number : 107 Question Id : 54592714449 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

S0 krn/h @ site i | EeA ot 1 e # T et gE a9 # qedr 57
Options:

1. % B00m

2. ¥ B33.332m
2. % BEEEE M
4. % 900 m

Question Number : 108 Question Id : 54592714450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& bird can fly at an average speed of 20 kmfh. After flving for 2.5 hours, its speed got lowered by 10 percent.
Afrer flving for another 0.5 hours, the bird rested for 1 hour. What is the average speed of the bird for the day?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1. 16 kmjh

2 18 kmjh

3 19 kmjh

4. z0kmfh

Question Number : 108 Question Id : 54592714450 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T THT 20 krnfh & T T E I AWl 81 2.5 e o W0 I2 W & J1e, ST M 10 TideT w9 51 TS, T 0.5 9 J@
mﬁ%m waft & 1 T 3 oy e Terem gee O & ST AT g T ofit 2.5 O # 45 lan & IS W 39 3 i,
et & aftea TiE Far 27

Note: For this question, discrepancy is found in question/answer. So,this question isignored for al
candidates.

Options:

1. 16 kmjh

2 18 km/h

3 19km/h

4. 20 kmh

Question Number : 109 Question Id : 54592714451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

15 wornen pluck 225 kg tea leaves by working for 6 hours. How rmuch tea leaves can be plucked by 12 wormen
in & hours?

Options:

1. % 220 kg
2. % 230 kg
39 240 kg
4. % 250 kg

Question Number : 109 Question Id : 54592714451 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
15 AigaTadt & 6 O T 3y 225 kg =g & oidal IR & 8 O # 12 AfgaATel 2 ra=T = 597 &1 =1 @@d 1 57

Options:



1. % 220kg
> % 230kg
2. ¢ 240 kg
4. % 250kg

Question Number : 110 Question Id : 54592714452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& and B can complete a work alone in 42 and 21 days respectively. If they work on alternate days, how rmuch
tirne is required to cornplete the job?

Options:

1. % 14 days
2. % 21ldays
2. ¥ 2B days
4. % 3t days

Question Number : 110 Question Id : 54592714452 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A 3B WS 42 o7 21 Taat f rbel &0 @1 9 T 5 Jie o deieiem forl o W a1 g af B QT e 9 (o] =T aua

Options:

1. % 14127
o % 211
3. v 2T
4 % 35 %27

Question Number : 111 Question Id : 54592714453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Rarmn can complete repairing a laptop in 5 hours. Shyarm is 20 percent more efficient than Rarm. If Ram and
Shyarm work together, their efficiency increases by 10 percent. If 16 similar laptops nead to be repaired, how
rany hours will Ram and Shyam together require?

Options:
1. % 10
2. %9
3% 12
4 ¥ g

Question Number : 111 Question Id : 54592714453 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T AUSTT ! AXFAT S o6 H R 9% @ gl T &1 ga-T § S0 20 Aidad siiée Fad 8 Jie 09 o 5270 U 91 &0 &5 5, af
I FEHAT 10 NidaT g5 AT 3 91 16 JA aue 1T & ATFAT 9 9 SIS &, 71 OF S 5Ty & Uw |r e g
TSz 7

Options:

1. % 10

2. %9
3% 12



4. ¥ 3

Question Number : 112 Question Id : 54592714454 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the volume of a cylinder with diameter 14 crmand height & o

Options:

1. ¥ 770 cucm

2 % 2BScucm

3. ® SF7Scucm
4 % B35 25 cucm

Question Number : 112 Question 1d : 54592714454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
14 crm =W & 5 crm 3EE 9T st F ST @ AT @i

Options:

1.9 770 cucm
2. % 385 cucm
3. % EF7Scucm

4 % g35 25 cucm

Question Number : 113 Question Id : 54592714455 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Caloulate the wolume of a cube having side 2+/3 cm.

Options:

1. % B4 cucm

2 ® 383 cucm
3. % F2cucm

4 % 2443 cucm

Question Number : 113 Question Id : 54592714455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

243 cm #F AT e T 3 ST S TI0ET @
Options:

1. ®¥ Sdcucm

2. % 3268/2cucm
3% FRroucm

4. v 243 cucm

Question Number : 114 Question Id : 54592714456 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If the lengths of the two parallel sides of a trapezium are € cm and its area is 50 sg.cm, then find the distance
betweer the parallel sides.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.



Options:
1. 6cm

Z . 8com
2 10cm
4 1z2cm

Question Number : 114 Question Id : 54592714456 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
?w%ﬁ%@mﬁmﬁﬁﬁe cm 3 10 cm & 3 S9ET 89%d 80 sq om § 31 S THEET il & st 6
=R

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1.6cm

2 8cm

3 10cm

4. 12 cm

Question Number : 115 Question Id : 54592714457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The graph shows the contribution made by each mode of adwvertisement. & company spends morey orl
different modes of advertisements to boost its sales. If the company, spends a total of Bs. 100000 to boost 12
percent of its sales, what percent of the sale is boosted by only newspaper advertisernent?

Contribution of Advertisement to
increase sales.

Options:

1. % 320 percent
2. % 3260 percent
3. % 460 percent
4. % 4 20 percent

Question Number : 115 Question Id : 54592714457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 320 qidew
2. % 360 uiduT
3 % 460 udaT
4 ¥ 4 20 UidaT

Question Number : 116 Question Id : 54592714458 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Refer to the chart showing & different types of cheese and their sales in rupees, sold by a shop. If S percent of
sales of cheddar cheese is Rs. 2850, what is the sale of cottage cheese?

Sales of Cheese

Options:
1. % Rs 32500

= % RBs 28500
=z # Rs 20500



4 % 500

Question Number : 116 Question Id : 54592714458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T méﬁnﬁgsﬁﬁiﬂwﬁﬁﬁﬁﬁmﬁ@aﬁﬁ T 5 WA =I= = b Telth! qr 2850 B0 § 1 P1eT =i 1
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e @ f&hr

Options:

1. % 32,500 700
2. ¥ 28,500 T
% % 20,500 70
4, % 25 500 T

Question Number : 117 Question Id : 54592714459 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The table shows number of daily labourers required in a factory during the year and their daily wages (in
rupees). In which month does the factory spend rmaximurm on wages?

Months il aea [;glr!y ahoiEe
January 120 90
February 110 95
March 130 75
April 80 130
May 90 145
June 70 160
July S0 170
August 40 i80
September 30 190
October 110 90
November 120 85
December 130 75

Options:

1. % May



= % June
= % March
4 ® Novermber

Question Number : 117 Question Id : 54592714459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TATTCART o o S U BT H ST ST oGl ol Qe 3T Iqehl ST o= (T H) 7 Gariar g1 Tore At # e
FEAGL! O ST s el w57

TAZIT 5 ufa =y
=6 TS | 2w Aa=
ra<t 120 20
wIaLr 110 25
e 150 7s
o= s0 1s0
=% 20 143
70 160
% S0 170
MATET 40 180
T faaaw 30 190
A 110 so
qTaaY 120 ss
fEEaT 130 7s
Options:
1. v o
2 %99
3 % A
4 ® TR

Question Number : 118 Question Id : 54592714460 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Refer the table and evaluate in which year the rainfall is highest {in total for all cities) when temperature is

more than 25707

Year Temp. [°c] Rainfall (in ems)
Delhi Kolkata | Mumbai | Chennai

2015 28 100 120 140 &0
2016 23 90 110 130 50
2017 25 80 200 . =
2018 24 10 90 110 =
2019 27 60 0 — =

Options:

1. % 2019

2 ® 2018

3. ® 2016

4 ¥ 2015



Question Number : 118 Question Id : 54592714460 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TTTetenT Sa grariar ¢ T Tore o o ot e arfire g2 (endt arget & g g <t o 25°C & arféer 317

I p— aut et
feeft |Fromwrar] gag | W

2015 28 100 120 140 60
2016 23 90 110 130 50
2017 25 80 100 120 50
2018 24 70 90 110 50
2019 27 60 80 100 50

Options:

1. ¥ 2019

2 ® 2018

3. ® 2016

4« 2015

Question Number : 119 Question Id : 54592714461 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The following chart shows total consumption of wheat fin MT) by families over a month. How many families
consume 15 percent or more wheat than farnily A7

145

144
140 138
13 132
130 119
115
120
v
11%
A ] C o [ 4

Families

Consumplion of Wheat (In MT)

Options:
1. % 4
o % 3
A e
4 %1

Question Number : 119 Question Id : 54592714461 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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14%

144
1
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Options:
1. % 4
2 %3
3 V0
4 %1

Question Number : 120 Question Id : 54592714462 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T o S A o T e T 40 w3t @ war o Ui qewt et 87
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2
Options:
1. % gEeodan
2 % gwaw
3 ® FEET
4. FEaw

Question Number : 120 Question Id : 54592714462 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Refer to the graph and find the day on which the attenndance in a class of 40 students is the highest?

40
»
i
g %
S 3
{ 3
: I
L} |
3
Tuesdey Wednesday Th.mh-; Friday
Days
Options:
1. ® Thursday
2. % Friday
3. % Wednesday
4. ¥ Monday
Ceneral Englishil
Group Number : 7
Group Id : 545027717
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
General Eriglishl
Section I1d : 545927717
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545027859

Question Shuffling Allowed : Yes



Question Number : 121 Question 1d : 54592714463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The senterice below has been divided into three parts. Select the part of the sentence that has an error. If the
sertence has no error, select the option Mo Error'

The medicine the doctor | prescribed haves unpleasant | side effects.
Options:

1. ® The medicine the doctor

2. ¥ prescribed haves unpleasant

3. % side effects.

4. % Mo Error

Question Number : 121 Question Id : 54592714463 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'

The medicine the doctor | prescribed haves unpleasant | side effects.
Options:

1. ®* The medicine the doctor

= ¥ prescribed haves unpleasant

2. % side effects.

4. % Mo Error

Question Number : 122 Question Id : 54592714464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The senterice below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'.

History reminded us| that events repeat | thernselves.
Options:

1. % History reminded us

2. % that events repeat

2 % themselves.

4. % Mo Error

Question Number : 122 Question Id ;: 54592714464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The senterice below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'

History reminded us) that events repeat [ thermselves.
Options:

1. % History remunded us

2. % that events repeat

3. ¥ themselves.



4. % Mo Error

Question Number : 123 Question Id : 54592714465 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'

Kiran was dreaming for | becormning a famous | scientist one day.
Options:

1. ¥ Kiran was dreaming for

2. % becoming a famous

. % srientist one day.

4. % Mo Error

Question Number : 123 Question 1d : 54592714465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentenice below has been divided into three parts. Select the part of the sentence that has an error. If the
sertence has no error, select the option Mo Error'

Kiran was dreaming for [ becoming a famous | scientist one day.
Options:

1. % Kiran was dreaming for

2. % becoming a famous

2. % soientist one day.

4. % MNo Error

Question Number : 124 Question Id : 54592714466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The senterice below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'

Mrs. Thakur was not quite | satisfied from the exam results of [ both her children.
Options:

1. % Mrs. Thakur was not quite

= % szatisfied from the exam results of

2. % both her children.

4. % Mo Error

Question Number : 124 Question Id : 54592714466 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the
seriterice has no error, select the option ™o Error'.

Mrs. Thakur was not quite | satisfied from the exam results of [ both her children.
Options:
1. % Mrs. Thakur was not quite

2 % satisfied from the exam results of



Z. * pboth her children.

4. % Mo Error

Question Number : 125 Question Id : 54592714467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The sentenice below has been divided into three parts. Select the part of the sentence that has an error. If the
sertence has no error, select the option Mo Error'

My dad shouted | at e because I was rude | 1o the guests.
Options:

1. * My dad shouted

2. % atme because [ was rude

2. % tothe guests.

4. % Do Error

Question Number : 125 Question Id : 54592714467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'

My dad shouted | at me because | was rude | to the guests.
Options:

1. % My dad shouted

2. % at me because [ was rude

2. % tothe guests.

4. % Mo Error

Question Number : 126 Question Id : 54592714468 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word segment that substitutes replaces) the bracketed word segment correctly and cormpletes the
sertence meaningfully.

Read the (follows instructions) carefully and act accordingly.
Options:

1. ¥ following instructions

2. % follow instructions

2. % followed instructions

4. % No correction required

Question Number : 126 Question Id : 54592714468 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word segrment that substitutes replaces) the bracketed word segrment correctly and cormpletes the
sertence meaningfully.

Read the {follows instructions) carefully and act accordingly.
Options:
1. % following instructions



2. % follow instructions
3 % followed instructions

4. % Mo correction required

Question Number : 127 Question Id : 54592714469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the word segrment that substitutes (replaces) the bracketed word segment correctly and completes the
sentence meaningfully.

(Does Shyarm writing) novels or short stories?
Options:

1. % Does Shyarn writes

= % Does Shyarn write

2. * Do Shyam write

4. % No correction required

Question Number : 127 Question 1d : 54592714469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word segrment that substitutes (replaces) the bracketed word segrment correctly and cormpletes the
sentence meaningfully.

(Does Shyarm writing) novels or short stories?
Options:

1. % Does Shyarm writes

2. ¥ Does Shyarm write

3. % Do Shyarmn write

4. # Mo correction redquired

Question Number : 128 Question Id : 54592714470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word segment that substitutes replaces) the bracketed word segment correctly and cormpletes the
sentence meaningfully.

The Rajdhani Express (eaves from Delhi Station o) seven in the morning.
Options:

1. % leaving from Delhi Station on

= % leaves from Delhi Station in

2. ¥ leaves from Delhi Station at

4. % Mo correction required

Question Number : 128 Question Id : 54592714470 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word segment that substitutes replaces) the braclketed word segrment Ccorrectly and completes the
sentence meaningfully.

The FEajdhani Express (leaves from Delhi Station on) seven in the ITIOTTINE,
Options:



1. ® leaving from Delhi Station on
2. % leaves from Delhi Station in
= % legves frorm Delhi Station at

4. % No correction required

Question Number : 129 Question Id : 54592714471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segrment that substitutes (replaces) the bracketed word segrment correctly and cormpletes the
sentence meaningfully.

{Please wait) for a morment, Kiara is talking to Mary.
Options:

1. * Please waits

2. * Please waiting

Z. % Please to wait

4. 9 Mo correction required

Question Number : 129 Question Id : 54592714471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes replaces) the bracketed word segrment correctly and completes the
sentence meaning fully.

{Please wait) for a morment, Kiara is talking to Mary.
Options:

1. ® Please waits

Z % Pleaze waiting

3. ® Please to wait

4. % Mo correction required

Question Number : 130 Question Id : 54592714472 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes replaces) the bracketed word segrment correctly and completes the
sentence meaningfully.

(what were you does) wherl the courier arrived?
Options:

1. % What vou doing

2. % wWhat were you doing

2. % What were you does

4. % No correction required

Question Number : 130 Question Id : 54592714472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segrment that substitutes (replaces) the bracketed word segrment correctly and cormpletes the
sertence meaningfully.

what were vou does) when the courier arrived?



Options:

1. # What vou doing

= ¥ What were you doing
2. % What were you does

4. % MNo correction required

Question Number : 131 Question Id : 54592714473 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the word that fills in the blank correctly and completes the sentence meaningfullg.r.

Themaid ______ the garbage into the dustbin yvesterday.
Options:

1. % t0ss

= ¥ tossed

3. % t0sses

4. % tost

Question Number : 131 Question Id : 54592714473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

The rmaid ______ the garbage into the dustbin yesterday.

Options:
1. #* toss

2 % tossed
2. ¥ tosses
4. % tost

Question Number : 132 Question Id : 54592714474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

He has the experience recessary for adwvertised software job.

Options:
1. % an

2. ¥ the
3% 3

4. % Mo articls

Question Number : 132 Question Id : 54592714474 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaningfullg.r.

He has the experience necessary for
Options:
1. % an

adwvertized software job.



2. ¥ the
3% 3

4. % Mo article

Question Number : 133 Question Id : 54592714475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaningfullg.r.

The sailors walked ______ the ship.
Options:

1. % on

2. % topof

2. ¥ aboard

4. % under

Question Number : 133 Question Id : 54592714475 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the word that fills in the blank correctly and completes the sentence meaningfullgr.

The sailors walleed the ship.

Options:
1. % on
2. % topof
2. ¥ gboard

4. % under

Question Number : 134 Question 1d : 54592714476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

The kids told ghost stories
Options:
1. ¥ during

2. = for
2 = from
4. % on

the night.

Question Number : 134 Question Id : 54592714476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaningfullg.r.

The kids told ghost stories
Options:

1. % during

2. % for

3 % from

the night.



4. % on

Question Number : 135 Question Id : 54592714477 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaningfullg.r.

Grandma loved sitting
Options:

1. * under

= ¥ on

2 % in

4. % ypon

her nesw rocling chair,

Question Number : 135 Question 1d : 54592714477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the word that fills in the blank correctly and completes the sentence meaningfullgr.

Grandma loved sitting her riew rocking chair.

Options:
1. % under
2 ¥ on
2 % in

4. % ypon

Question Number : 136 Question Id : 54592714478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

The school bus driver ______ rashly on most days.
Options:

1. ¥ drives

2. ® drived

3. % driven

4. % driving

Question Number : 136 Question Id : 54592714478 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaningfullg.r.

The school bus driver rashly on most days.

Options:

1. % drives
2. % drived
2. % driven

4. % driving



Question Number : 137 Question Id : 54592714479 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the word that fills in the blank correctly and completes the sentence meaningfullgr.

There were rmany children in
Options:
1. ¥ the, the

park

2. % a3 an
2. % an, the

4 % a3 a

Question Number : 137 Question 1d : 54592714479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

There were rmany children in

Options:

1. ¥ the, the
2. % 3, an
= % amn, the

4 % a3 a

Question Number : 138 Question Id : 54592714480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

Flease ______ silenice in the library.
Options:

1. #* mAintaining

2. % maintained

2. % maintains

4 % maintain

Question Number : 138 Question Id : 54592714480 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the word that fills in the blank correctly and completes the sentence meaningfullg.r.

Flease ______ silence in the library.
Options:

1. % maintaining

2. % maintained

2. % mRintains

4 % maintain

Question Number : 139 Question Id : 54592714481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The sentences of a paragraph have been jumbled up, and labelled F, &, R and 5. Select the option that gives
the correct sequence in which these sentences should be rearranged to form a meaningful paragraph.

F: Finally thanks for reading, do let me know if there any good resources [ could use to find my birth family.
2 [ think the name [ have for my mother is correct and know someone still living in Calcutta,

E: I have very few details, from what I know [ came from 5t Catherine's Orphanage.

5. Hi, I was adopted in Barrackpore in 1991

Options:

1. ¥ SROP
2. = SFROQ
= = ROSP
4 = ROQFS

Question Number : 139 Question 1d : 54592714481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentences of a paragraph have been jumnbled up, and labelled F, Q, R and 5. Select the option that gives
the correct sequence in which these sentences should be rearranged to form a meaningful paragraph.

F: Finally thanks for reading, do let me know if there any good resources [ could use to find my birth family.
;I think the name I have for my mother is correct and know sormeone still living in Calcutta.

E: I have very few details, from what I know [ came from 5t Catherine's Orphanage.

5 Hi, I was adopted in Barrackpore in 1991

Options:

1. % SRCFP

2 = SPRO

3. % RO5F

4. = RQFS

Question Number : 140 Question Id : 54592714482 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentences of a paragraph have been jumnbled up, and labelled F, ©, R and 5. Select the option that gives
the correct sequence in which these sentences should be rearranged to form a meaningful paragraph.

F: "Brealup" is cormmonly termed "durnping [somecne]” in slang wiien it 15 initiated by one partner.
A relationship breakup, often referred to simply as a breakup, is the termination of an intimate
relationship by any means other than death.

E: The term is 155 likely to be applied to a married couple, where a brealup is typically called

8 Separation or divorce.

5. When a couple engaged to be married brealss up, it 15 typically called a "broken engagernent”
Options:

1. ® PRSQ

2. % SRPQ

3% OQPRS

4. = POES

Question Number : 140 Question Id : 54592714482 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The sentences of a paragraph have been jumbled up, and labelled F, &, R and 5. Select the option that gives
the correct sequence in which these sentences should be rearranged to form a meaningful paragraph.

F: "Breakup” is comrmonly termed "dumping [someone]” in slang wher it is initiated by one partner.
;A relationship breakup, often referred to simply as a breakup, is the termination of an intimate
relationship by any means other than death.

E: The term is less likely to be applied to a married couple, where a brealkup is typically called

a separation or divorce.

5. When a couple engaged to be married breaks up, it is typically called a "broken engagerment”

Options:

1. % PRSQ

2. % SRPO

=% QPRES

4. % PORES
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Question Number : 141 Question Id : 54592714483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The sentences of a paragraph have been jumbled up, and labelled F, &, R and 5. Select the option that gives
the correct sequence in which these sentences should be rearranged to form a meaningful paragraph.

P: that the ability to be alone is an essentially healthy sign of emotional developrment and maturity. Once 3
child has obtained closeness and attachment by his early caregivers, he or she is able to develop ermotional
deweloprnent and rmaturity.

; if children hawve not introjected the good and protective qualities of their parents,

R they will fear separation and break-ups.

5: Kamer K Rueckert argues with the works of Donald Winnicott

Options:

1. ¥ 5POR
2 = PORS
= = FSROQ
4 = SORP

Question Number : 141 Question Id : 54592714483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentences of a paragraph have been jumbled up, and labelled F, &, R and 5. Select the option that gives
the correct sequence in which these sentences should be rearranged to form a meaningful paragraph.

P: that the ability to be alone is an essentially healthy sign of emotional developrment and maturity. Once 3
child has obtained closeness and attachment by his early caregivers, he or she is able to develop ermotional
deweloprnent and rmaturity.

; if children hawve not introjected the good and protective qualities of their parents,

R they will fear separation and break-ups.

5: Kamer K Rueckert argues with the works of Donald Winnicott

Options:

1. ¥ SPOR
2 = PORS
= = PSRO
4 = SORP

Question Number : 142 Question 1d : 54592714484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is closest in meaning SYMNONYM to the word given below.

ACTIMELR]
Options:

1. ¢ Erilliance
2. % Temerity
3. % lgnorance

4. % Conderr

Question Number : 142 Question Id ;: 54592714484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that 15 closest in meaning SYHONYR 1o the word given belca.

ACUMEN
Options:
1. % Brilliance



2. % Temerity
2. % lgnorance

4. % Condernrn

Question Number : 143 Question Id : 54592714485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the correct word HOMOMYM that fills in the blank and makes the sentence meaningful.

Kashvyap
Options:
1. % road
= ¥ rode
2% rowed

4 % roed

away o his motorcycle in a huff,

Question Number : 143 Question Id : 54592714485 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the correct word HOMOMYM that fills in the blank and makes the sentence meaningful.

Eashyap
Options:
1. % road

2 % rode
2. % rowed

4. % roed

away 011 his motorcycle in a huff,

Question Number : 144 Question 1d : 54592714486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the correct word HOMOMNYM that fills in the blank and makes the sentence meaningful.

ko could not pick up oy sister because the of the car was punctured.
Options:

1.9 tyre

2. % tier

3% tire

4. % fyer

Question Number : 144 Question Id : 54592714486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the correct word HOMOMYM that fills in the blank and makes the sentence meaningful.

Forn could not pick up my sister because the of the car was punctured.

Options:
1. % tyre
2. % tier

3. % tire



4. % tyer

Question Number : 145 Question Id : 54592714487 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the word that 15 opposite in meaning ANTOMNYM to the word given balow.

BEENEVOLEMNT
Options:

1. ® Urbanised
= % Agrarian
3. ¥ Miserly

4. % Malignant

Question Number : 145 Question Id : 54592714487 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is opposite in meaning ANTOMNYM to the word given balow,

BEMEW OLENT
Options:

1. % Urbanised
2. ® Aorarian
2. ¥ Miserly

4. % Malignant

Question Number : 146 Question Id : 54592714488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is closest in meaning SYHONYM 1o the word given belca.

GENEE
Options:

1. % Alluring
2. % lgnorance
3. % Upsurge
4. ¥ Category

Question Number : 146 Question Id : 54592714488 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the word that 15 closest in meaning SYHNONYM 6o the word given below.

ZEMNEE
Options:

1. % Alluring
Z % lgnorance
3. *® Upsurge
4. % Category



Question Number : 147 Question Id : 54592714489 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. ¥ Bourgeoisie
2. ® Borgwasy
3. % Bourgieoise

4. # Bourgeisie

Question Number : 147 Question Id : 54592714489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which orly one word 15 spelt correctly, Chodse the correctly Spelt word.

Options:

1. % Bourgeoisie
Z % Borgwasy
3. # Bourgieoise

4. % Bourgeisie

Question Number : 148 Question Id : 54592714490 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. % Allegence
= ® Allegance
3. % Alegiance

4. 9 Allegiance

Question Number : 148 Question Id : 54592714490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which orly one word 15 spelt correctly, Chodse the correctly Spelt word.

Options:

1. ® Allegence
= % Allegance
3. # Alemiance
4. ¥ Allegiance

Question Number : 149 Question Id : 54592714491 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. % Presbaterian
2. ¥ Presbyterian
3. % Presbuvyterian

4. # Pressbytarian



Question Number : 149 Question 1d : 54592714491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. ® Presbaterian
2 ¥ Presbyterian
Z. % Presbuyterian

4, % Pressbytarian

Question Number : 150 Question Id : 54592714492 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the option that best expresses the meaning of the idicm or phrase giverl below

'Bite off more than you can chew!

Options:

1. ¥ o try to do something that is too difficult for you
2. % to be able to predict the future

3. % 1o break relationships with others

4. % to fiddle or meddle with something

Question Number : 150 Question Id : 54592714492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that best expresses the meaning of the idiom or phrase giverl below.

'Bite off more than you can chew!'

Options:

1. ¥ to try to do something that is too difficult for you
2. % o be able to predict the future

Z. % 1o break relationships with others

4. % to fiddle or meddle with something

Question Number : 151 Question Id : 54592714493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Select the option that best expresses the meaning of the idiom or phrase giverl below.

'Baclk against the wall'

Options:

1. ¥ when vou're really in need, you think of creative solutions to your problems.
2. ¥ Ee in a difficult situation from where escape is difficult.

Z. % To do something badly or cheaply.

4. % Running away from tricky situations.

Question Number : 151 Question Id : 54592714493 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Select the option that best expresses the meaning of the idiom or phrase given below.

'Bacl against the wall'

Options:

1. ¥ When vou're really in need, you think of creative solutions to your problems.
2. ¥ Be in a difficult situation from where escape is difficult.

= * To do something badly or cheaply.

4. % Running away from tricky situations.

Question Number : 152 Question Id : 54592714494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that best expresses the meaning of the idiom or phrase giverl below.

'4 chip off the old block!

Options:

1. ¥ to describe exactly what is causing a situation or problem
2. % to hawve some secret information about someone

= % to flatter someone

4. % girmilar to someone in the generation before you

Question Number : 152 Question Id : 54592714494 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that best expresses the meaning of the idicm or phirase giverl beloswe,

‘4 chip off the old bloclk!

Options:

1. # to describe exactly what is causing a situation or problem
2. % to have some secret information about someone

= % 1o flatter somecne

4 % sirmilar to somecne in the generation before you

Question Number : 153 Question 1d : 54592714495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate 'one word ' for the expressions given below,

To influence someone in a deceptive way
Options:
1. ¥ Beguile

= # Ethereal
= # Delirious

4. % Pluviophile

Question Number : 153 Question Id : 54592714495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate 'one word ' for the expressions given below,

To influence someone in a deceptive way



Options:

1. % Beguile

2. % Ethereal

2. % Delirious
4. # Pluviophile

Question Number : 154 Question Id : 54592714496 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the most appropriate 'one word ! for the EXPIessions giverl below.

To persuade by flattery or coaxing
Options:

1. * Callous

= ¥ Cajole

3. % Epoch

4. % Tuwvenile

Question Number : 154 Question 1d : 54592714496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate ‘one word ' for the expressions given below,

To persuade by flattery or coaxing
Options:

1. % Callous

= ¥ Cajole

= % Epoch

4. # Juwvenile

Question Number : 155 Question Id : 54592714497 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate 'one word ' for the expressions given below,

Someone who Criticizes or attacks cherished ideas and beliefs
Options:

1. * Lexicographer

2. % Dictator

2. % Composer

4. [conoclast

Question Number : 155 Question Id : 54592714497 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the most appropriate 'one word ! for the EXPIEsSI0NSs giverl below.

Sormeone who Criticizes or attacks cherished ideas and beliefs
Options:
1. # Lexicographer



2. % Dictator
3% Cormposer

4. % [conoclast
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Question Id : 54592714498 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)
Cuesticon Label | Comprehension

Eead the passage below and answer the questions that follow.

Air India is the flag carrier airline of India, headquartered at New Delhi. It 15 owned by Air India Limited, a
government-owned enterprise, and operates a fleet of Airbus and Boeing aircraft serving 94 domestic and
internaticnal destinations. The airline has its hub at Indira Gandhi International Airport, New Delhi, alongside
several focus cities across India. Air India is the largest international carrier out of India with an 18.6 Wi
market share. Over 60 international destinations are served by Air India across four continents. The airline
became the 27th member of Star Alliance on 11th July 2014

The airline was founded by J. BE. D. Tata as Tata Airlines in 1922; Tata himself flew its first single-engine de
Havilland Puss Moth, carrying air mail from Karachi to Eombay's Juhu aerodrome and later continuing to
Madras (currently Chennai). After World War II, it hecame a public limited company and was renamed as Air
India. ©On 21 February 1960, it took delivery of its first Eoeing 707 named Gauri Shankar and became the first
Asian airline to induct a jet aircraft in its fleet.

Alr India's mascot is the Maharajah tigh Kingh. It was created by BEobby Koolka, the then-cormmercial director
of Air India, and Urnesh Rao, an artist with J. Walter Thormpson Lirmited in 1946, Kooka stated that, "Wwe call
him a Maharajah for want of a better description. But his blood isn't blue. He may look like rovalty, but he isn't
royal”. Alr India adopted the Maharajah as its rmascot in 1946, It was used in promoting it although initially
designed only for the airline's memo-pads.

Sub questions

Question Number : 156 Question 1d : 54592714499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage, which among these is the flag carrier airline of India?

Options:

1. % Indian Airlines
2. ¥ Ajr India

3% Jet Alirways

4. % Maharaja airlines

Question Number : 157 Question Id : 54592714500 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage, which among these was the first BEoeing 707 for Air India?

Options:

1. = Gauri Parvat
2. % Gauri Sinha
2. % Gauri Shankar
4 # Shiv Shankar



Question Number : 158 Question Id : 54592714501 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage, Air India was founded by whorn?

Options:
1. % Ratan Tata

2. % Sohrabji Tata
3. ¥ Dadabhai Tata
4 % JED Tata

Question Number : 159 Question Id : 54592714502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage, who armong these 15 the mascot for Air India?

Options:

1. % Maharajah
2. % Thalkur

2. % Kuwarsa

4. % Rai Bahadur

Question Number : 160 Question Id : 54592714503 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

According to the passage, JRD Tata carried air mail from

Options:
1. % Mumbai to Karachi

2. % Karachi to Chennai
3. ¥ Chennai to China

4. % Murmbai to Eerala

Question Id : 54592714498 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)
Cesticn Label | Comprehension

Read the passage below and answer the questions that follow.

Air India is the flag carrier airline of India, headquartered at New Delhi. It is owned by Air India Limited, a
government-owrned enterprise, and operates a fleet of Airbus and Boeing aircraft serving 94 domestic and
internaticonal destinations. The airline has its hub at Indira Gandhi International Airport, New Delhi, alongside
several focus cities across India. Air India is the largest international carrier out of India with an 18.6 WiHae
market share Ower 60 international destinations are served by Air India across four continents. The airline
became the 27th member of Star Alliance on 11th July 2014

The airline was founded by ] BE. D. Tata as Tata Airlines in 1922; Tata himself flew its first single-engine de
Havilland Puss Moth, carrying air mail from Karachi to Bombay's Juhu aerodrome and later continuing to
Madras (currently Chennai). After World War 11, it became a public limited company and was renarmed as Air
India. ©n 21 February 1960, it took delivery of its first Eoeing 707 named Gauri Shankar and became the first
Asian airline to induct a jet aircraft in its fleet.

Alr India's mascot is the Maharajah tigh King). [t was created by BEobby Kooka, the then-cormumercial director
of &ir India, and Umesh Rao, an artist with J. Walter Thompson Limited in 1946, Kooka stated that, "Wwe call
him a Maharajah for want of a better description. But his blood isn't blue. He may look like rovalty, but he isn't
royal”. Alr India adopted the Maharajah as its rmrascot in 1946, It was used in promoting it although initially
designed only for the airline's memo-pads.

Sub questions



Question Number : 156 Question Id : 54592714499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage, which among these is the flag carrier airline of India?

Options:

1. *® Indian Airlines
Z ¥ Ajr India

3. % Jet Alrways

4. % Maharaja Airlines

Question Number : 157 Question Id : 54592714500 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage, which among these was the first Eoeing 707 for Air India?

Options:

1. % Gauri Parvat
2. % Gauri Sinha
2. ¥ Gauri Shankar
4. % Shiv Shankar

Question Number : 158 Question 1d : 54592714501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage, Air India was founded by whorm?

Options:

1. % Ratan Tata

= % Sohrabji Tata
3. % Dadabhai Tata

4 % [R.D Tata

Question Number : 159 Question Id : 54592714502 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage, who among these 15 the mascot for Air India?

Options:

1. ¥ Maharajah
2. % Thakur

3. ® Kuwarsa
4. % Rai Bhadur

Question Number : 160 Question Id : 54592714503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

According to the passage, ] R.D.Tata carried air mail from
Options:

1. ¥ Murmbai to Karachi

2. % Karachi to Chennai

2. * Chennai to China



4. % Mumbai to Ferala
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Options:
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2.« gi-uf
4. % FqE
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Options:
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tty va . ox Beedt § 9, 39 Swe @1 o9 o7 1 @iew # iU 77 95 & ajar o 199 a=® -0 &1 @51 deed gh

Options:

1. % (qre) g7 T SieT & ugel | o1 d1g
2. % (zW AT O T aue § T A T

=V (3 Am e Rt o " o w9

4. % (W) W HEAT ATHA 51 TR gELT H?

Feneral Hindiz

Group Number : 10

Group Id : 545927720
Group Maximum Duration : 0

Group Minimum Duration : 120
Revisit allowed for view? : No

Revisit allowed for edit? : No



Break time: 0

Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

general Hindiz

Section Id : 545027720

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section Id: 545927863
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 54592714524 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeET ng §, o Sweul § 9, 39 [9wew &1 =49 ¢ A1 To0 0 a1 o Fd & 98 @6 a1 d@ed 5

EEEIE R GEGIE
Options:

1. ¥ FRq A
YdFTA
2. % aaEy YaETe

3 % el qFae
4 & g gd AEETe

Question Number : 181 Question Id : 54592714524 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT v ar Teeat # 4 39 TEeey @7 =0T w8 1 Ty T a1 & 9 o 9 @ Gl dwed gh

ATET AA H ded T 8l
Options:

1. ¥ TRy
HIRTA

2. % ay YawTe
3 % amuf qaeTe
4 & g gd AT

Question Number : 182 Question Id : 54592714525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



TateET vg #, o Bweat § 9, 39 Pwen @1 a9 w6 =1 =g my aer & g g o A @ we et Heed 3
T ¢ T Teened & gET N

Options:

1. % eyt
2. & T
3. #® gt
4. % Teaamef

Question Number : 182 Question Id : 54592714525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng H, oW et § 9, 39 Hwed @7 a9 & A1 150 M7 ane & 00 g 3 9 97 dae ST OwmeT 3

T ¢ oI Teenea & gEl g
Options:
1. % Tereepef

2. & gvramet
3. % magmf
4 8 Toegaref

Question Number : 183 Question Id : 54592714526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ng #, oW Hwedt § 9, 39 THwed @ g & S 150 T are & 0wy & 9 9 T aRET e B

el ST i T T 3

Options:

1. % | EvErd®
2. ¥ TraaEia®
3. ® poideras

4. ® FEEETE

Question Number : 183 Question Id : 54592714526 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TacRET ng #, oW eed! # 9, 39 ey @1 909 & S 150 70 a1 & o0 0y & A 9 Fe aRET e )

e S iy T

Options:

1. ® gravzars
2 ¥ Heodea®
2 ® gfdeaw

4. % JRIET®

Question Number : 184 Question Id : 54592714527 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



T et & & Tamgar o uitad s @1 fawey giam

EEIRISIEHRICICICE I
Options:

1. ® g9 @ T EET

2. % WA IR EaT gl

% R g | AR G AT
4 & o | AR G AT

Question Number : 184 Question Id : 54592714527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o et & & T amga e uivad = @7 fdwew gi=m

EEIRE IEHRCICIGIEE 2
Options:

1. % o 98! EeT =@

2. % HgeT g gE|T a7

3. R g A | AR G ST
4, & T T GET A5 G =T

Question Number : 185 Question Id : 54592714528 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR mg #, oW fwed! § 9, 39 Towed &7 a9 T 1 Gyl a5 9 &7 dwed i

FHTE Tder sge ok 7l
Options:

1. % fepaEg
2. % ggm g
3. ¥ [ g
4. % T A

Question Number : 185 Question Id : 54592714528 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafafET g # ow et # € 39 Teew #7909 @ S 98T aeg 9 #7 Heew g

T Ty T o g

Options:

1. % T o

2 ® ggm aed

3. ¥ e g
4. % T G

Question Number : 186 Question Id : 54592714529 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Tt ng § o Bwedt § & 39 Swew @7 a9 o A1 "5t a9 9 @7 Heer g

il ST | o T S SR eiSh B)
Options:

1. % Hgm g

o, o Ty g

% % gigdmEw e

4. ® HhTdEE T

Question Number : 186 Question Id : 54592714529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrafeiaT ng |, ow Oweat § & 30 9wy &1 o099 & A1 951 a9 dg @7 [dwed g

il ST | o T g SRt g Bl
Options:

1. % #Hgm g

o, & Ty am

3. ¥ HigdmEd aEg

4. ® FhaamEd g

Question Number : 187 Question Id : 54592714530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TfeiaT ng | ow Owedt § 7, 30 9wy 1 o9 o AT 95t a9 98 #7 TweT g

ST = W7 ST & H AT A aaT g
Options:

1. % {eramad g

2. ® {OA g

3. % feraEg

4. & TIH FET

Question Number : 187 Question Id : 54592714530 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T ng & aw et § 9, 39 Heew @1 209 ¢ 91 931 a9 95 #7 @7 50
ST = AT ST &% HAT = "a=

Options:

1. ® {eradmd ameg
2. ® {ed g

3. % o

4. Gg® Fd

Question Number : 188 Question Id : 54592714531 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tty v #, o Bwedt # €, 39 Twe @1 o9 = A1 fOem g g% 9199 @7 9l HweT &1

Options:



1. % Fa 5w, o & el auf g1, Tar o
2. % g gH O o el autf g w5t 2
% o T gH O O T, i g1 w5t 2
4, ¥ g gH e o T, auf gf w5t off?

Question Number : 188 Question 1d : 54592714531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ot va . ox Bt § 9, 39 Swey @ o9 = 1 foom g g% a9 @7 ag! e gn

Options:

1. % Fg 5w, o & oo, auf g1, &r o
2. % A gH O | el aut g w5t o
3. ¥ a0 O Tl aut gt a5t 2
4, % g g O § T, auf g7 15T 17

Question Number : 189 Question Id : 54592714532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T na #, or Beedt § 9, 39 e o1 o9- = =1 fovm g 3% o @7 |gt HweT En

Options:

1. g U O TR W &) oI5 gH el 4T 8l
2. % g UZ O YU AT Og g el AT R

3. % gHUZ W UeUE AT § O TH, T T
4. % T g 0 UoU AT g TE §H, el 2471 )

Question Number : 189 Question Id : 54592714532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ot va . ox Bt § 9, 39 Swey @ o9 = 1 foom g g% a9 @7 ag! e gn

Options:

1. gH U W OR AR ) T §H e a1 8]
2. ® gH g W U A § Ag BH B AT R

3. ¥ gHUZ O UeUE WG & o TH, el o T gl
4. % T UZ 0 U AW & 95 §H, Bl 212

Question Number : 190 Question Id : 54592714533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tty va #, ox Beedt 8 9, 39 Swey #7099 &% 91 fou 7y geret & o agt arf gt Seer 3

ST T STATIAT

Options:

1. % =7 T

2. ¥ gEtl Bl 7 GABE ST 1 & e
3. ® T T ST HAT

4, % AT TH TFAaET

Question Number : 190 Question Id : 54592714533 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
TafeT v, o Swedt § €, 39 owed #7939 3% A7 150 7 geTay & wy agt arf arar Heed g

ST TAT STATIAT

Options:

1. % 17 T

2. ¥ GE BT T GARE ST T aT e
3. % T W SR EAT

4. ® 3T e et

Question Number : 191 Question Id : 54592714534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tty va /. ox Swedt 8 9, 39 Swey @1 099 o 9 fou 7 gerat & o |gt arf arar Hwe 2

T & T FAT
Options:

1. % |ramr

2. % aF T

3. ¥ s AT
4. ® STGAT FAT

Question Number : 191 Question Id : 54592714534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tty va #, ox Beedt 8 9, 39 Swey #7099 &% 91 fou 7y geret & o agt arf gt Seer 3

AT = HE wAT
Options:

1. % |r=mr

2. % T TR

= ¥ e T AT
4. ® ST AT

Question Number : 192 Question Id : 54592714535 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e v . o Ewedt 8 9, 39 ey %7 o3 3 7 150 7 geTa & oy |gt arf arar Hewed 2

T OF =g T

Options:

1. % sty AT

2. % gHg 7 =T

3. % P g

4. & UH T AT BT

Question Number : 192 Question Id : 54592714535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Tty va /. ox Swedt 8 9, 39 Swey @1 099 o 9 fou 7 gerat & o |gt arf arar Hwe 2

T O =g T

Options:

1. % sty @mr

o % T T T

3. % witdT g

4. & T T AT § AT

Question Number : 193 Question Id : 54592714536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ng #, oW fHwed! § 9, 39 Towed &1 909 T 1 ol T8 A s & o] Tn1 arf aTar e 8

T | FEAT T O LT g

Options:

1. % ST =aih

2 % ! & oft Uw 7 g

3. ¥ gEil BT F GARE ST ST I AT
4. ® TET T WA

Question Number : 193 Question Id : 54592714536 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEmET vg # gr et # 4 39 ey @7 209 @ S 3T TE AreiiE & T aer erf arer Hee 2

FE | JIIR T T T T

Options:

1. ® T saie

2. % Tt &1 oft U 7 g

2. GEL BT T GARE ST ST G I AT
4. ® orar  FT

Question Number : 194 Question Id : 54592714537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeET ng | o Bwedt § & 39 Swew o7 =4 o A1 31 e Atw it & T agt anf amer Beer 2

T Gl AHTAIT ST

Options:

1. % Tt @7 o Har

2 % FTAT-gET AT

3. % HAT EAT

4 & AT BT TR w G BT

Question Number : 194 Question Id : 54592714537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ng #, oW fHwed! § 9, 39 Towed &1 909 T 1 ol T8 A s & o] Tn1 arf aTar e 8

T e FHTAT ST



Options:

1. % Toreft ot o HawAT

2 ® FAT-gET FEAT

3. ® wATECT

4 ST B T B GA R AT

Question Number : 195 Question Id : 54592714538 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T ng & ow et § 8, 39 987 [9wed @7 =9 &€ 1 31 T2 At & og agr aref amr ey 2

T g1 fa= g, mee u iE
Options:

1. % &% % o1 FAT

2. ¥ qiv\ 97 Bl s WA 5
3 % ot o O TR @ g

4. # gg et ang et & e

Question Number : 195 Question Id : 54592714538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TaEET vg §, o THeent § 8, 39 9el W @ e @ AT 51 T8 Ald e & oy a1 awf e e 8
R a7 T e, TR o A

Options:

1. # <@ o HTH FeAT

2. ¥ UTCHH T el ardes THeTaT
3. % git o & TRl @ gaa
4. % ggd Taat g fepedt & foe

Sub-Section Number: 2
Sub-Section Id: 545927864
Question Shuffling Allowed : Yes

Question Id : 54592714539 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)
Cesticn Label | Comprehension

et oy Ty e @ eamE e g o o Ty we o eaion 5o )

S THgT Te &1 Wi 31 el ihed 1 J@Tied HeaT gl So, TAa-T o afdT srewor g1 e 31 fegd sIag R uode® et
o T Toa e 31 SO A ol 1 g1 g1 Ao st Terdl §ad wiid wia] 5l STerdd Sy ) & wadl G AT B1 S ST

: T o0y 51 51d 1 SHE U G AT e &1 G 51d7 g, Toig @l gt @1 Srfe &ed g Jieerd et
AU Her B 2T el ST AT R g Far g1 et § aiy iter @ erara & 91 ag e Taaer | e e ure TRt @ qear
|mmmmﬁﬁmﬁqﬁmﬁ@ﬁm%ﬁmgmmﬁmmwa = S
o7 S Futedrtd # arfderTil art ofl arsitoeer st & de, e e o i qT ATAe I ST o s We 0
%@%ﬁﬁgwﬁﬁ@%%ﬁmaﬁfﬁwﬁ@mﬁqﬁ@ﬁ% = T]07 3 HTEH | FIe—H-F1T ok o2l @ agrgdid LTy

Sub questions




Question Number : 196 Question Id : 54592714540 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T i Wl i Sithed 0 Sglied §idT a7
Options:

1. % aFARERTH

o % T

3. % ayraerert

4. ¥ S SoeRe g

Question Number : 197 Question Id : 54592714541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
eI g™ | Theeh! i Ja0g Agi gl 57
Options:

1. % goesr

2. T A HeE
3. ® gEg aaEen
4. EgdT @ S

Question Number : 198 Question Id : 54592714542 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Targeft & @t fter o7 arTE & 4T T BT 27
Options:

1. T & g

=, % FifgT @ nm AT g

3 ® Frdgpaear ¥ gy

4 % TReeryul AT e

Question Number : 199 Question Id : 54592714543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TAH H I — AT AT T T I aam Tl 27
Options:

1. % faear

2 e

3. % gafiear

4. % Juar

Question Number : 200 Question Id : 54592714544 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TH Ageis 1 PIE SUgH dw-
Options:

1. % Taitger offT Tagmeft

2 B e o Ut

3. ¥ ITEHdT Fed SFRET ST

4 % TReeryul AT e




Question Id : 54592714539 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)
Juestion Label - Comprehension

et oy Ty e @ e e g o o Ty v & waion 5o g

e eagT T T T cfthcd @ Sg@Tied Hedl gl SO, TEH 1 2 Oie =R gf A1d 21 Sioq® eiag ] Woder s
%ﬁq’%ﬂm%nﬁﬁ‘gﬁfﬁwﬁmﬁﬁ ST i HerhT o S wid] 51 Sierg® cagK & Bgdl g AT B1 S ST
ST g A Tedria= ol Joug g1 gid N e U s T el BT G FiaT |, ToegH ! TEgaT @ STy wid 7 e e
S T S STt T A R G a7 Tt | Aty offe v enita § 91 9 e T & anieT T o At w awar
| ST SITETer 27 FHar | STeHTsare &1 Jhy Tad- 5l 51 AT & S |1 B 39 effthed B IR T ST STa 1 81 56 STF
o7 T Futeertd # arterer et ofit arefteer TR @ st TdereTr e o Sl T AT S ATTe o sl MR 0
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Sub questions

Question Number : 196 Question Id : 54592714540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T ST W o e R SETR FaT 27
Options:

1. % sFAERTH

2 ® =T d

3. % ayraerert

4. ¢ diergd R §

Question Number : 197 Question Id : 54592714541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e coag R & ekt T gawg =gt g1t 27

Options:

1. % gamgry

o> o aTgeT ST Hg
3. % g aE
4. * TEgdr @ STgAT

Question Number : 198 Question Id : 54592714542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Targeft & @ty fter o7 arTE & T o BT 27
Options:

1. T & gk

2. % FifgT @ nm aaT g

3 % Frdgpaear ¥ gy

4 % mryeayof arTeT

Question Number : 199 Question Id : 54592714543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TAH | FI — AT ATA T F7 T aa= T21 27

Options:



1. % tdear
o i
3 % gaoffmar
4. ¥ quar

Question Number : 200 Question Id : 54592714544 Question Type
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TH Ageis 1 PIE SUgH dHw-
Options:

1. % farerar ofte Targmeff

2. ® mey of wepld

%, ¥ ITEIAdT Ged SFRET ST

4 % mryeayof arTeT

: MCQ Option Shuffling : Yes Display Question Number : Yes



